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3H\]DM�0LPDUODUÕ�2GDVÕ�|UJ�WO�O�NOHUL�����
1LVDQ������WDULKLQGH�\DSÕODFDN�2OD÷DQ�
*HQHO�.XUXO�|QFHVL�ùXEH�*HQHO�.XUXOODUÕ�

YH�*��0HUNH]�GHOHJDV\RQ�VHoLPOHULQL�
GHPRNUDWLN�WHDPP�OOHU�LoLQGH�

WDPDPOD\DUDN�\HQL�NXUXOODUÕQÕ�YH�
GHOHJHOHULQL�EHOLUOHGL��

*HQHO� .XUXO� V�UHoOHULQH� JHUHN� GHOHJH�
DGD\Õ� RODUDN�� JHUHN� \HGHN� GHOHJH� DGD\Õ�
RODUDN� �� JHUHNVH� GH� R\� YHUHUHN� NDWNÕ�
VXQDQ� E�W�Q� PHVOHNWDúODUÕPÕ]D�
PHVOH÷LPL]�YH�2GD�|UJ�WO�O�÷�P�]�DGÕQD�
WHúHNN�U�HGL\RUX]��
0HVOHNL� YH� |UJ�WO�� P�FDGHOHPL]L�
|Q�P�]GHNL� \HQL� oDOÕúPD� G|QHPLQGH�
\|QHWLP� NXUXOODUÕQGD� \�U�WHFHN� RODQ�
GH÷HUOL� \HQL� VHoLOPLú� ùXEH� <|QHWLP�
.XUXOX� �\HOHULPL]L� WHEULN� HGL\RU�� ]RUOX� YH�
\R÷XQ� JHoHFHN� \HQL� oDOÕúPD� G|QHPLQGH�
�VW�Q�EDúDUÕODU�GLOL\RUX]��
*HULGH� EÕUDNWÕ÷ÕPÕ]� �� \ÕO� LoLQGH� ELU� oRN�
SODQ�SURMH� YH� DoÕOÕP� VHUJLOH\HUHN�
2GDPÕ]ÕQ� ��� \ÕOOÕN� ELULNLPLQL� LOHUL\H�
WDúÕPD\D�JD\UHW�J|VWHUGLN��=DPDQ�VD\DFÕ�
LOHUL\H� DWWÕNoD� PHVOHNWDúODUÕPÕ]D� ��
PHVOH÷LPL]H� YH� |UJ�WO�O�÷�P�]H� NDUúÕ�
J|UHY�YH�VRUXPOXOXNODUÕPÕ]�GD�DUWÕ\RU��
ùLPGL� |Q�P�]GH� ���� 1LVDQ� �����
WDULKLQGH� JHUoHNOHúWLUH÷LPL]� 3H\]DM�
0LPDUODUÕ�2GDVÕ����'|QHP�2OD÷DQ�*HQHO�
.XUXOX�EXOXQX\RU��*HQHO�.XUXOXPX]XQ�EX�
J|UHY� VRUXPOXOXNODUÕQ� �VWHVLQGHQ�
JHOHELOHFHN� LUDGH� YH� HQHUML\L�
\DUDWDELOPHVLQL�� P�FDGHOHPL]GH� ELU�
VÕoUDPD� QRNWDVÕ� RODUDN� WDULKH� JHoPHVLQL�
GLOL\RUX]��
�
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$YUXSDµQÕQ� GR÷DO� YH� N�OW�UHO� SH\]DMODUÕQÕQ�
ELU�E�W�Q�RODUDN�NRUXQPDVÕ��\|QHWLOPHVL�YH�
SODQODQPDVÕ� �]HULQH� ELU� oHUoHYH�
V|]OHúPHVL�RODQ�$YUXSD�3H\]DM�6|]OHúPHVL�
�$36��� ����������� WDULK� YH� ����� VD\ÕOÕ�
.DQXQ�QR�LOH�7%00�WDUDIÕQGDQ�RQD\ODQPÕú�

YH� ��� 7HPPX]� ����� WDULK� YH� ������ VD\ÕOÕ� 5HVPL�
*D]HWHµGH�\D\ÕQODQDUDN�\�U�UO�÷H�JLUPLúWLU���
6|]OHúPHQLQ� JHQHO� DPDFÕ�� $YUXSDµQÕQ� KHU� \HULQGH�
SH\]DM� oHúLWOLOL÷LQLQ� YH� NDOLWHVLQLQ� NRUXQPDVÕ��
SODQODPDVÕ� YH� \|QHWLPL� LoLQ� NDPX� RWRULWHOHULQL� \HUHO��
E|OJHVHO�� XOXVDO� YH� XOXVODU� DUDVÕ� VHYL\HGH� SH\]DMODUÕ�
NRUX\XFX�� \|QHWLFL�� SODQOD\ÕFÕ� SROLWLNDODU� LOH� NXUDOODU�
X\JXODPD\D� YH� NDPX\X�� NXUXPODUÕ�� \HUHO� YH� E|OJHVHO�
\|QHWLFLOHUL� SH\]DMÕQ� |QHPLQL� YH� GH÷HULQL� DQODPD\D�
WHúYLN�HWPHNWLU���
$36�� SH\]DMODUÕQ� NRUXQPDVÕQÕ�� SODQODQPDVÕQÕ� YH�
\|QHWLPLQL� HWNLOH\HFHN� NDUDUODUGD� SD\Õ� RODQODUGDQ� LOHUL�
J|U�úO��ELU�\DNODúÕP�LVWHPHNWHGLU��d�QN��6|]OHúPHQLQ�
\HUHOGHQ�$YUXSD�|OoH÷LQH�NDGDU�ELU�oRN� UHVPL�YH�|]HO�
IDDOL\HW� DODQÕQGD� \D� GD� SROLWLNDODUGD� HWNLVL�
J|U�OPHNWHGLU��
dHúLWOLOLNOHUL� YH� NDOLWHOHUL� EDNÕPÕQGDQ� $YUXSD�
SH\]DMODUÕQÕQ� \DúDPVDO� |QHPL� YXUJXODQPÕúWÕU�� %X�
QHGHQOH�� $36µ\L� LP]DOD\DQ� �ONHOHU�� SH\]DMODUÕQÕ�
NRUXPDN�� SODQODPDN� YH� \|QHWPHN� LoLQ� NROHNWLI� ELU�
G�]HQOHPH�\DSPDNWDQ�VRUXPOX�NÕOÕQPÕúODUGÕU���
%X� oHUoHYHGH� 7�&�� dHYUH� YH� 2UPDQ� %DNDQOÕ÷Õ� YH�
7002%� 3H\]DM� 0LPDUODUÕ� 2GDVÕµQÕQ�
NRRUGLQDW|UO�÷�QGH� YH� $QNDUD� hQLYHUVLWHVL� =LUDDW�
)DN�OWHVL� 3H\]DM� 0LPDUOÕ÷Õ� %|O�P�� YH� 7h%ø7$.µÕQ�
GHVWH÷L� LOH�$36� LOH� LOJLOL� W�P� LOJL�JUXSODUÕQÕ�RUWDN�ELU�GLO�
ELUOL÷LQGH� EXOXúWXUDELOPHN�� XOXVDO� SH\]DM� SROLWLNDVÕQÕQ�
YH� VWUDWHMLVLQLQ� JHQHO� oHUoHYHVLQL� EHOLUOH\HELOPHN�
DPDFÕ\OD� ������ 0D\ÕV� ����� WDULKOHUL� DUDVÕQGD�
$QNDUDµGD� XOXVODU� DUDVÕ� NDWÕOÕPOÕ� ELU� WRSODQWÕ�
G�]HQOHQPLúWLU���
$36�� SH\]DM� NDYUDPÕQD� \|QHOLN� VRV\DO�� HNRQRPLN��
VL\DVDO� YH� KXNXNVDO� \HQL� DQOD\ÕúODU� JHWLUPHNWHGLU� YH�
VRQXoWD�LNL�|QHPOL�NRQX�|Q�SODQD�oÕNPDNWDGÕU����
�,����������6|]OHúPHGH��SH\]DM��LNL�W�UO��WDULI�HGLOPHNWHGLU��
øON�RODUDN�SH\]DM��QHVQHO��REMHNWLI��ELU�LIDGH�LOH��\HU\�]��
SDUoDVÕ�� RODUDN� WDQÕPODQPDNWD�� GDKD� VRQUD� |]QHO�
�VXEMHNWLI�� ELU� LIDGH� LOH� EX� \HU\�]�� SDUoDVÕQÕQ� E�W�Q�
ELUH\OHUFH�NDYUDQÕú�ELoLPL�RODUDN�EHOLUWLOPHNWHGLU��
�,,�������� 6|]OHúPH�� SH\]DMÕQ� IDUN� HGLOLúL� YH� HYULPLQH�
LOLúNLQ�RODUDN�\XUWWDúODUÕQ�URO�Q��YXUJXODPDNWDGÕU��%XQD�
ED÷OÕ� RODUDN� \XUWWDúODUÕQ� RWXUGXNODUÕ� DODQODUGDNL�
SH\]DMODUOD�LOJLOL�NDUDUODU�DOÕQPDVÕQD�NDWÕOÕPÕ�NRQXVXQGD�
ELOLQFLQ�DUWWÕUÕOPDVÕ��]HULQGH�ÕVUDUOD�GXUXOPDNWDGÕU���
%|\OHOLNOH� SH\]DMÕQ�� KHU� úH\GHQ� |QFH�� \DúDP�
NDOLWHVLQLQ�� oHYUHVHO� GH÷HUOHULQ�� VRV\DO� YH� N�OW�UHO�
NLPOL÷LQ�ELU�SDUoDVÕ�RODUDN��VRV\DO�YH�oHYUHVHO�DODQODUGD�
NDPX� �\DUDUÕQÕ� VD÷OD\DQ� ELU� |÷H� RODUDN� DOJÕODQPDVÕ�
NROD\ODúDFDNWÕU�
%X�WRSODQWÕQÕQ�VRQXFXQGD�EHOLUOHQHQ�|QHPOL�QRNWDODU�YH�
DOÕQDQ� NDUDUODU� DúD÷ÕGD� EHOLUWLOPLú� YH� EXQODUÕQ� W�P�
NDWÕOÕPFÕODUD�� GL÷HU� LOJL� JUXSODUÕQD� YH� NDPXR\XQD�
GX\XUXOPDVÕQD�NDUDU�YHULOPLúWLU��
���������$36µQL�hONHPL]LQ� LP]DODPÕú�ROPDVÕ��SH\]DMODUÕQ�
NRUXQPDVÕ�� \|QHWLPL� YH� SODQODQPDVÕQGD� E�\�N� ELU�
IÕUVDW�RODUDN�J|U�OPHNWHGLU���
��������� $36� NDSVDPÕQGDNL� WDQÕP� WHPHO� DOÕQGÕ÷ÕQGD�
WDQÕP� LoLQGH�� J|UVHO�� IL]LNVHO�� N�OW�UHO�� LúOHYVHO��

HNRQRPLN�� HNRORMLN�� WRSOXPVDO��� ]DPDQVDO�
YH� SH\]DM� GH÷LúLPLQH� LOLúNLQ� NDYUDPODUD�
YXUJX�\DSÕOPDVÕ�X\JXQ�J|U�OPHNWHGLU���
��������� 3H\]DM�� E�W�Q� \XUWWDúODUÕQ� \DúDP�
NDOLWHVLQLQ� WHPHO� ELU� IDNW|U� RODUDN�

NLPOLNOHULQLQ� YH� N�OW�UHO�� VRV\DO�� HNRQRPLN�
JHOLúPHOHULQLQ� WHPHO� ELOHúHQL� RODUDN� WDQÕPODQPÕúWÕU��
�3H\]DM�ÕQ�� ELUH\VHO� YH� WRSOXPVDO� UHIDK� LOH� \DúDP�
NDOLWHVL� DoÕVÕQGDQ� �DQDKWDU�� ELU� XQVXU� ROGX÷X� NDEXO�
HGLOPHOLGLU�� %X� ED÷ODPGD� SH\]DMODU�� �VHoNLQFL��
\DNODúÕPOD� GH÷LO�� �WRSOXPVDO�� |]HOOL÷L� |QH� oÕNDUÕODUDN�
HOH�DOÕQPDOÕGÕU��
��������� 3H\]DMODU�� \DVDO� G�]HQOHPHOHUGH�� |QFHOLNOH� GH�
KHQ�]� WDVODN� KDOGH� EXOXQDQ� �'R÷D� .RUXPD�
<DVDVÕ�QGD�� �ONHPL]GHNL� GR÷DO� YH� N�OW�UHO� PLUDV�
oHúLWOLOL÷LQLQ�ELU�\DQVÕPDVÕ�RODUDN�WDQÕPODQPDOÕGÕU��
��������� 3H\]DMODUÕQ� NRUXQPDVÕQÕ� DPDoOD\DQ�
SROLWLNDODUÕQ�ROXúWXUXOPDVÕQÕQ�\DQÕ�VÕUD��\|QHWLOPHVL�YH�
SODQODQPDVÕQD� LOLúNLQ� \DVDO� V�UHo� YH� EXQODUÕ�
X\JXODPD\D� NR\PD� \�N�PO�O�÷�� WDQÕPODQPDOÕGÕU��
$\UÕFD� EX� SROLWLNDODUÕQ� X\JXODPD\D� NRQPDVÕQGD��
NDPXVDO�YH�\HUHO�GHQHWLPLQ�HWNLQOL÷L�DUWWÕUÕOPDOÕGÕU��
��������� %XJ�QH� GH÷LQ�� WDUÕP�� RUPDQFÕOÕN�� HQG�VWUL��
PDGHQFLOLN�JLEL� VHNW|UOHULQ� IDDOL\HWOHULQGH�\D�GD� IDUNOÕ�
SODQODPD�oDOÕúPDODUÕQGD��SH\]DM�ÕQ�WDúÕGÕ÷Õ�DQODP�YH�
GH÷HU� VÕNOÕNOD� J|]� DUGÕ� HGLOPLú�� EX� QHGHQOH� �ONH�
SH\]DMODUÕ� WDKULS� HGLOPLú� \D� GD� oHúLWOLOLNOHUL� ]DUDU�
J|UP�úW�U�� %X� oHUoHYHGH� LOJLOL� NXUXP� YH� NXUXOXúODU�
6|]OHúPH� JHUH÷L� RODUDN�� ELU� \DQGDQ�� \XUWWDúODUÕ�
SH\]DMODUGDQ� \DUDUODQPD� NRQXVXQGD� GX\DUOÕODúWÕUPD�
YH� H÷LWLPOH� \�N�PO�� ROPDN�� GL÷HU� \DQGDQ�
X\JXODPDODUÕ\OD� SH\]DM� KDNNÕQÕ� \DUDWPDN� JLEL� LNL� DVOL�
J|UHYL��VWOHQPHNWHGLUOHU���
��������� 7DQÕPODPDODUGDNL� SH\]DMD� LOLúNLQ� NDYUDP�
NDUJDúDVÕQÕ� RUWDGDQ� NDOGÕUPDN� LoLQ� RUWDN� ELU� GLO�
ROXúWXUPD\D�\|QHOLN�oDOÕúPDODU�\DSÕOPDOÕGÕU��
��������� hONHVHO�� E|OJHVHO� YH� \HUHO� GH÷HUOHQGLUPH�
NDWPDQODUÕQD� J|UH� SH\]DM� HQYDQWHUL� ROXúWXUXOPDOÕ� YH�
�ONHVHO� H\OHP� SODQODUÕ� NDSVDPÕQGDNL� GL÷HU� HQYDQWHU�
YH� L]OHPH� oDOÕúPDODUÕ� LOH� E�W�QOHúWLULOPHOLGLU�� %X�
oHUoHYHGH� �8OXVDO� 3H\]DM� %LOJL� 6LVWHPL�� LoLQ� YHUL�
WDEDQÕ�WDVDUÕPÕQÕQ�JHOLúWLULOPHVL�|QHP�ND]DQPDNWDGÕU���
��������� 3H\]DM� oHúLWOLOL÷LQLQ� \�NVHN� ROGX÷X� ELU� DODQÕQ�
GHQHPH� DODQÕ� RODUDN� VHoLOPHVL� YH� SH\]DM�
VÕQÕIODQGÕUPD� oDOÕúPDVÕQÕQ� \DSÕOPDVÕ� YH� SH\]DM�
SODQODPD� V�UHFLQLQ� WDQÕPODQPDVÕ� |QHPOL� ELU� DGÕP�
RODUDN�J|U�OPHNWHGLU��
������$36��SH\]DM�SODQODUÕQÕQ�XOXVDO�PHY]XDWWDNL�SODQ�
NDGHPHOHUL�LoLQGHNL�WHPHO�ELOHúHQ�ROGX÷XQXQ�KXNXNHQ�
NDEXO� HGLOPHVL�� VHNW|UHO� SROLWLNDODUÕQ� ROXúXPXQGD�
E|OJH� YH� úHKLU� SODQODPD� SROLWLNDODUÕQD� NDWÕOPDVÕQÕQ�
VD÷ODQPDVÕ� YH� �ONHPL]GH� SODQODPD� NDGHPHOHULQGH�
\HQLGHQ� \DSÕODQPD� JHUHNOLOL÷L� NRQXVXQGD� |QHPOL� ELU�
UHKEHUGLU�� 3H\]DM� PLPDUOÕ÷Õ� GLVLSOLQLQLQ� HNRORMLN�
DOW\DSÕVÕ� YH� E|\OH� ELU� \DSÕODQPDGD� \HU� DOPDVÕ� GR÷DO�
YH�N�OW�UHO�ND\QDNODUÕQ�NRUXQPDVÕQGD��ONHQLQ�LKWL\DFÕ�
RODQ�DoÕOÕPÕ�VD÷OD\DFDNWÕU��
������ 3H\]DM� NRUXPD�� \|QHWLP� YH� SODQODPD\Õ�
KHGHIOH\HQ� XOXVDO� SH\]DM� SROLWLNDVÕ� YH� VWUDWHMLVL�
ROXúWXUXOPDOÕ�YH�X\JXODPD\D�JHoLULOPHOLGLU��
������ $36� oDOÕúPDODUÕQÕQ� KÕ]ODQGÕUÕOPDVÕ� YH�
6|]OHúPHµQLQ� HWNLQOL÷LQLQ� DUWWÕUÕOPDVÕ� LoLQ� ELU� �8OXVDO�
3H\]DM�.RPLWHVL���ROXúWXUXOPDOÕGÕU��
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��� 0DUW� ����� WDULK� YH� ������� VD\ÕOÕ� 5HVPL�
*D]HWHµGH�RQD\ODQDUDN�\�U�UO�÷H�JLUHQ�6HUEHVW�3H\]DM�0LPDUOÕN�0�úDYLUOLN��600��+L]PHWOHUL�8\JXODPD�� 0HVOHNL� 'HQHWLP�� %�URODUÕQ�7HVFLOL� YH� $VJDUL� hFUHW� <|QHWPHOL÷LµQLQ�
ho�QF�� %|O�P�QGHNL�� �6HUEHVW� 3H\]DM�
0LPDUOÕ÷Õ� +L]PHWOHUL� 9HULOPHVL�� 7HVFLO� YH�
%HOJHOHQGLUPH� .RúXOODUÕ�QÕQ� WDQÕPODQGÕ÷Õ�
0DGGH�����D������E������0DGGH�����E������0DGGH�
��� �� D� �� ��� E� �� ���0DGGH� ��� �� K��0DGGH� ��� �� o�
JHUH÷L� ]RUXQOX� KDOH� JHWLULOHQ� 0HVOHN� øoL�(÷LWLPOHULQ���.(ùø)� 0(75$-� 9(� ø+$/(�'26<$6,�+$=,5/$10$6,��EDúOÕ÷Õ������������
J�Q��+DULWD�0�KHQGLVOHUL�2GDVÕ�(÷LWLP�6DORQXµ�
QGD� \DSÕOGÕ��
KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBGH
WD\�SKS"NRG ����	WLSL �	VXEH ��

7002%�h<(6ø�6(5%(67�0(6/(.�0(1683/$5,�(�%(<$11$0(
�'(1�<$5$5/$1$%ø/(&(.�
7002%� �\HVL� VHUEHVW� PHVOHN�
PHQVXSODUÕQÕQ� H�EH\DQQDPH�

X\JXODQPDVÕQGDQ�
\DUDUODQDELOPHVL� LoLQ�
0DOL\H%DNDQOÕ÷ÕµQD� J|QGHULOHQ�
\D]Õ\D� ROXPOX� \|QGH� \DQÕW� JHOGL��
%XQD�J|UH��VHUEHVW�PHVOHN�ND]DQo�

NDSVDPÕQGD� NDODQ� PHVOHN� PHQVXSODUÕQÕQ�
EDúYXUXODUÕ� KDOLQGH� YHUJL� GDLUHOHULQFH�
NHQGLOHULQH� NXOODQÕFÕ� NRGX�� SDUROD� YH� úLIUH�
YHULOHFHN�$\UÕFD�� W�P� PHVOHN� PHQVXSODUÕQÕQ� H�
EH\DQQDPH� X\JXODPDVÕQGDQ� \DUDUODQDELOPHOHUL�
NRQXVXQGD� GD� 7002%� WDOHELQLQ�
GH÷HUOHQGLUPH\H�DOÕQGÕ÷Õ�ELOGLULOGL���

�
�

KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBGH
WD\�SKS"NRG ����	WLSL �	VXEH ���

�<g1(7ø0�.858/8�%$ù.$1,0,=�$�258d.$37$1
�'$1��=02�<.�%$ù.$1,�*�*h1$<',1¶�,1�
$d,./$0$/$5,1$�'h=(/70(�

����������� WDULKLQGH� +�UUL\HW� $QNDUD�
VD\IDODUÕQGD�\D\ÕQODQDQ�YH�=LUDDW�0�KHQGLVOHUL�
2GDVÕ� %DúNDQÕ� *�*h1$<',1µ� ÕQ�
DoÕNODPDODUÕQÕ� LoHUHQ� KDEHULQ� DUGÕQGDQ�� D\QÕ�
J�Q� |÷OHQ� VDDWOHULQGH� <|QHWLP� .XUXOX�
%DúNDQÕPÕ]� $�258d.$37$1� EDVÕQD� YH�
NDPXR\XQD� ELU� DoÕNODPD� \DSDUDN� \DúDQDQ�
GXUXP� KDNNÕQGD� YH� NDPXR\XQX� \DQÕOWÕFÕ�
ELOJLOHUH�\DQÕW�YHUGL��

�KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBG
HWD\�SKS"NRG ����	WLSL �	VXEH ��%2'580�<$5,0$'$6,1,1�d(95(6(/�9(�<$3,6$/�*(/(&(öø�6(032=<808�
�

'�]HQOHPH�.XUXOXQGD�2GDPÕ]ÕQ�GD�\HU�DOGÕ÷Õ�
VHPSR]\XP� �������� 0DUW� ����� WDULKOHULQGH�
\DSÕOÕ\RU��%RGUXP�ø..�WDUDIÕQGDQ�����������0DUW�
������ WDULKOHULQGH� %RGUXPµGD� G�]HQOHQHFHN�
RODQ� �YH�'�]HQOHPH�.XUXOXQ� GD�2GDPÕ]ÕQ� GD�
\HUDOGÕ÷Õ����%RGUXP�<DUÕPDGDVÕµ1ÕQ�dHYUHVHO�9H�<DSÕVDO�*HOHFH÷L����NRQXOX�VHPSR]\XPXQ�
SURJUDPÕQD� LOJLOL� OLQNWHQ� XODúDELOLUVLQL]��
KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBG
HWD\�SKS"NRG ����	WLSL �	VXEH ��

�
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7002%�3H\]DM�0LPDUODUÕ�2GDVÕ����'|QHP� 2OD÷DQ� *HQHO� .XUXO�|QFHVL� 0HUNH]� 'HOHJDV\RQ�VHoLPOHUL� ��� �� ��� ùXEDW� �����WDULKOHULQGH�WDPDPODQGÕ��

�
6HoLPOHULQ�LON�J�Q�����ùXEDW������WDULKLQGH�$h�
=LUDDW� )DN�OWHVL� 'HNDQOÕN� .RQIHUDQV� 6DORQXµ�
QGD�� GLYDQ� VHoLPL� LOH� EDúODGÕ�� 6D\JÕ� GXUXúX� YH�
øVWLNODO�0DUúÕQÕQ�� DUGÕQGDQ�� ��� dDOÕúPD�'|QHPL�
<|QHWLP� .XUXOX� %DúNDQÕ� $\úHJ�O�
258d.$37$1µ� ÕQ� DoÕOÕú� NRQXúPDVÕ� LOH� GHYDP�
HWWL�� 2GD� *HQHO� 6HNUHWHUL� 5HGLIH� .2/d$.�
GHOHJH� DGD\ODUÕQD� YH� NRQXNODUD� ��� dDOÕúPD�
'|QHPL� IDDOL\HW� UDSRUXQX� EDúOÕNODU� KDOLQGH�
VXQGX��2GD�g÷UHQFL�.ROODUÕ�302*HQo�DGÕQD����
�QLYHUVLWH\L�WHPVLOHQ�ELU�|÷UHQFLQLQ�VRQ�ELU�\ÕOOÕN�
IDDOL\HW�VXQXPXQXQ�DUGÕQGDQ�GHOHJH�DGD\ODUÕ�YH�
NRQXNODU�V|]�DODUDN�JHoPLú�G|QHP�oDOÕúPDODUÕQÕ�
GH÷HUOHQGLUGL�� JHOHFHN� oDOÕúPD� G|QHPLQGH�
\DSÕOPDVÕ�JHUHNHQ�DoÕOÕPODUÕ�DQODWWÕ��
%LULQFL� J�Q�Q� VRQ� E|O�P�QGH� 1LVDQµ� GD�
\DSÕODFDN�RODQ�2OD÷DQ�*HQHO�.XUXOµ�GD�PHUNH]H�

ED÷OÕ� �\HOHUL� WHPVLO� HWPHN� �]HUH�
dD÷GDú� 3H\]DM� 0LPDUODUÕ� YH�
7RSOXPFX�(PHN�*UXEX�DGÕ\OD�LNL�D\UÕ�
OLVWH�GLYDQD�VXQXOGX���
6HoLPOHULQ� LNLQFL� J�Q�� LVH� ��� ùXEDW�

����� WDULKLQGH� 3H\]DM� 0LPDUODUÕ� 2GDVÕ� *HQHO�
0HUNH]Lµ� QGH� \DSÕOGÕ�� %LU� J�Q� |QFH� 'LYDQD�
VXQXODQ� GHOHJH� OLVWHOHULQLQ� \DUÕúWÕ÷Õ� VHoLPOHUGH�
���� �\HPL]� R\� NXOODQÕOÕUNHQ� dD÷GDú� 3H\]DM�
0LPDUODUÕQÕQ� WHPVLO� HWWL÷L� OLVWH� ����� 7RSOXPFX�
(PHN� *UXEXQXQ� WHPVLO� HWWL÷L� OLVWH� LVH� ���� R\�
DOGÕ����R\�LVH�JHoHUVL]�VD\ÕOGÕ���
%X� VRQXoODUOD� EHUDEHU� dD÷GDú� 3H\]DM�
0LPDUODUÕ��1LVDQ�D\ÕQGD�\DSÕODFDN�RODQ�7002%�
3H\]DM� 0LPDUODUÕ� 2GDVÕ� ��� '|QHP� 2OD÷DQ�
*HQHO�.XUXOµ�GD�PHUNH]��\HOHULQL�WHPVLO�HWPH\H�
KDN� ND]DQGÕ��
KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBGH
WD\�SKS"NRG ����	WLSL �	VXEH ��
� h<(�/ø67(/(5ø�$6.,<$�d,.7,�

*HQHO� 0HUNH]� 'HOHJDV\RQ� 6HoLPOHUL�
h\H� /LVWHVL� ��������� ùXEDW�
WDULKOHULQGH� *HQHO� 0HUNH]� E�URVXQGD�
DVNÕ\D�oÕNWÕ��
�%LOJLOHULQL� NRQWURO� HWPHN� LVWH\HQ�

�\HOHULPL]� ùHKLW� $GHP� <DYX]� 6RN��� ������
.Õ]ÕOD\� DGUHVLQGH� EXOXQDQ� *HQHO� 0HUNH]�
ELQDPÕ]D� JHOHUHN� � ELOJLOHULQL� EX� WDULKWH� NRQWURO�
HWWLOHU��

2'$0,='$1�h<(/(5ø1(�%ø5�+ø=0(7�'$+$��
2GDPÕ]� |GHQWLOHULQL� G�]HQOL� RODUDN� |GH\HQ�
�\HOHULQL�IHUGL�ND]D�VLJRUWDVÕ�NDSVDPÕQD�DOÕ\RU��

7�P��\HOHULPL]L� VLJRUWD� NDSVDPÕQD�
DOPD� KD]ÕUOÕNODUÕ� \DSDQ� 2GDPÕ]��
�\HOHULQH� KLoELU� PDGGL� \�N�PO�O�N�
JHWLUPHGHQ� ELU� KL]PHW� GDKD�
VXQPD\D�KD]ÕUODQÕ\RU��)(5'ø�.$=$�6ø*257$6,�.ø0/(5(�<$3,/$&$."�

2GDPÕ]� D\OÕN� |GHQWLOHULQL� G�]HQOL� RODUDN�
|GH\HQ� �\HOHULPL]H� \|QHOLN� 0DUW� ����� µ� GHQ�
LWLEDUHQ� �VLJRUWD� KL]PHWLQL�� EDúODWPD\D�
KD]ÕUODQÕ\RU�� øON� HWDSWD� DLGDW� ERUFX� ROPD\DQ��
G�]HQOL� DLGDW� |GH\HQ� �\HOHULPL]LQ� SROLoH�
LúOHPOHULQH� EDúOÕ\RUX]�� +HQ�]� VLJRUWD�
NDSVDPÕQD� DOÕQPD\DQ� �\HOHULQ� |GHQWL�
ERUoODUÕQÕ� VÕIÕUODPDODUÕQÕQ� DUGÕQGDQ� SROLoHOHUL�
G�]HQOHQPH\H�EDúODQDFDN��%8�+ø=0(7�ødø1�2'$�1(�.$'$5�h&5(7�$/$&$."�
h\H� |GHQWL� ERUFX� ROPD\DQ� W�P� �\HOHUL�
NDSVD\DQ� IHUGL� ND]D� VLJRUWDVÕ� �\HOHULPL]H�
KLoELU�PDOL�N�OIHW�JHWLUPL\RU���
6LJRUWD� SULPOHULQLQ� 2GDPÕ]� �WDUDIÕQGDQ�
|GHQHFHN� ROPDVÕ� QHGHQL\OH�� VLJRUWD� úLUNHWL�
YH\D�DUDFÕ�NXUXPODUÕ�LOH��\HOHULPL]LQ�KLoELU�PDOL�
LOLúNLVL� ROPD\DFDN��
KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBG
HWD\�SKS"NRG ����	WLSL �	VXEH ��
� 7002%�68�32/ø7ø.$/$5,�.21*5(6ø�

�
�7002%� ELULQFLVLQL� ������0DUW� ����� WDULKOHULQGH�

JHUoHNOHúWLUGL÷L� 7002%� 6X� 3ROLWLNDODUÕ�
.RQJUHVL¶QLQ�LNLQFLVLQL��W�P�EX�NRQXODUÕQ�XOXVDO�YH�
XOXVODUDUDVÕ�� \DVDO�� VRV\R�HNRQRPLN�� WHNQLN��
KLGURSROLWLN� YH� LNOLPVHO� DoÕODUGDQ� HOH� DOÕQDUDN�
oHúLWOL� \|QOHUL� LOH� WDUWÕúÕODFD÷Õ� ELU� SODWIRUP�
\DUDWÕOPDVÕ� YH� V|]� NRQXVX� .RQJUH¶GHQ� HOGH�
HGLOHFHN� NDPXR\X� J|U�ú�Q�Q�� ����� '�Q\D� 6X�
)RUXPX¶QD� \DQVÕWÕOPDVÕ� DPDFÕQD� \|QHOLN� RODUDN�
G�]HQOHQPHVLQH� NDUDU� YHULOPLúWLU���
KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�HWNLQOLNOHU�HWNLQ
OLNBGHWD\�SKS"NRG ����	VXEH ���
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�302*HQo� 7HPVLOFLOLNOHUL� WDUDIÕQGDQ� ��� .DVÕP�
����� WDULKLQGH� LNLQFLVL� G�]HQOHQHQ� 3H\]DM�
0LPDUOÕ÷Õ� ,,�� g÷UHQFL� .XUXOWD\Õ� .LWDEÕ� oÕNWÕ��
.LWDSWD� NXUXOWD\D� ��� �QLYHUVLWH� WDUDIÕQGDQ�
VXQXODQ� ELOGLULOHULQ� \DQÕVÕUD�� NXUXOWD\� VRQXo�
ELOGLUJHVL�� oD÷UÕ�PHWQL��<|QHWLP�.XUXOX�%DúNDQÕ�
$\úHJ�O� 258d.$37$1µ� ÕQ� VXQXú� \D]ÕVÕ�
YH�NXUXOWD\�IRWR÷UDIODUÕ�EXOXQX\RU���
<HQL�oÕNDQ�ELU�GL÷HU�\D\ÕQÕPÕ]�LVH�g÷UHQFL�3URMH�
<DUÕúPDODUÕ�.LWDEÕ�����
$NVDUD\� .ÕOÕoDUVODQ� 5HNUHDV\RQ� $ODQÕ� 3H\]DM�
7DVDUÕPÕ�g÷UHQFL�3URMH�<DUÕúPDVÕ�YH�%H\SD]DUÕ�
.HQW�*LULúL�&DGGH�9H�0H\GDQ�7DVDUÕPÕ�3H\]DM�
0LPDUOÕ÷Õ� g÷UHQFL� 3URMH� <DUÕúPDVÕQD� NDWÕODQ�
SURMHOHU�NLWDSWD�VHUJLOHQL\RU���
<HQL�\D\ÕQODUÕPÕ]�*HQHO�0HUNH]�YH�ùXEHOHUGHQ�
WHPLQ�HGLOHELOLU��
� ø/.gö5(7ø0�gö5(1&ø/(5ø1(�

.218.�2/'8.«�
2GDPÕ]�$KL�(YUHQ�øON|÷UHWLP�2NXOXµ�QXQ�PHVOHN�
WDQÕWÕPÕ�J�QOHUL�NDSVDPÕQGD�|÷UHQFLOHULQ�NRQX÷X�
ROGX�� 2NXOXQ� PHVOHN� WDQÕWÕP� J�QOHUL�
NDSVDPÕQGD�SH\]DM�PLPDUOÕ÷Õ�PHVOHN�GLVLSOLQLQLQ�
WDQÕPÕ� YH� oDOÕúPD� DODQODUÕ� KDNNÕQGD� ELU� VXQXP�
�JHUoHNOHúWLULOHUHN�� |÷UHQFLOHULQ� NRQX\OD� LOJLOL�
VRUXODUÕ� \DQÕWODQGÕ�� %XQXQ� \DQÕ� VÕUD� oHYUH�
VRUXQODUÕ� LOH� LOJLOL� RODUDN� WHUPLN� VDQWUDOOHU� YH�
N�UHVHO� ÕVÕQPD� NRQXVXQGD� GD� |÷UHQFLOHUH� ELOJL�
DNWDUÕOGÕ�� 2GDPÕ]ÕQ� GD� �J�QGHPLQGH� RODQ� YH�
�$PDVUDµ�GD�\DSÕOPDVÕ�G�ú�Q�OHQ�WHUPLN�VDQWUDO�
NRQXVX�|÷UHQFLOHUOH�SD\ODúÕOGÕ�����
�

�KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBGH
WD\�SKS"NRG ����	WLSL �	VXEH ���

%$6,1�$d,./$0$6,���
�3$=$5&,.�1$5/,�29$6,�<2.�2/0$6,1���

hONHPL]LQ� GR÷DO�� WDULKL�� N�OW�UHO�
YH� HNRQRPLN� ]HQJLQOL÷H� VDKLS�
VHoNLQ� \|UHOHULQGHQ� ELUL� RODQ�
3D]DUFÕN�1DUOÕ�2YDVÕ��KHU�ELUL�WHN�
EDúÕQD� 7�UNL\HµQLQ� HQ� E�\�N�
oLPHQWR� IDEULNDVÕ� RODFDN�

NDSDVLWHGH� LNL� DGHW� oLPHQWR� IDEULNDVÕ� YH� 1DUOÕ�
2YDVÕµQÕQ� RUWDVÕQD� NXUXOPD\D� oDOÕúÕODQ� o|S�
WHVLVL�LOH�\RN�HGLOPHN�LVWHQL\RU��
1DUOÕ�2YDVÕ��]HQJLQ�YH�VXODN�WDUÕP�WRSUDNODUÕ�LOH�
SDPXN�� EX÷GD\�� GRPDWHV�� NDUSX]�� SDWDWHV�
EDúWD� ROPDN� �]HUH� KHU� W�UO�� VHE]H� YH�PH\YH�
HNLPLQLQ� \DSÕOGÕ÷Õ�� VRQ� \ÕOODUGD� ]H\WLQFLOL÷LQ�
KÕ]OD� \D\JÕQODúPD\D� EDúODGÕ÷Õ�� 7�UNL\HµQLQ�
WRSODP�ELEHU� LKWL\DFÕQÕQ����µQLQLQ� NDUúÕODQGÕ÷Õ�
EHUHNHWOL� WRSUDNODUD� VDKLS�� 7�UNL\HµQLQ� HQ�
YHULPOL� RYDODUÕQGDQ� ELULVLGLU�� %|OJHGH� .XUXOX�
.DUWDOND\D� %DUDMÕ� YH� VXODPD� VLVWHPL� 1DUOÕ�
2YDVÕµQÕQ� ���µGDQ� ID]ODVÕQGD� VXOX� WDUÕP�
\DSÕOPDVÕQÕ�VD÷ODPDNWDGÕU��*HoWL÷LPL]�\ÕO�'R÷D�
'HUQH÷LµQLQ� |QF�O�÷�QGH� 7�UNL\HµGH� DODQÕQGD�
X]PDQ� \�]H� \DNÕQ� ELOLP� LQVDQÕQÕQ� KD]ÕUODGÕ÷Õ�
�7�UNL\HµQLQ� gQHPOL� 'R÷D� $ODQODUÕ�� DGOÕ�
oDOÕúPDGD�<HúLOFH�gQHPOL�'R÷D�$ODQÕ�RODUDN�
LODQ�HGLOHQ�\|UH�1DUOÕ�2YDVÕ� VÕQÕUODUÕ� LoHULVLQGH�
EXOXQPDNWD�YH�EX�DODQ�oRN�VD\ÕGD�HQGHPLN�YH�
QHVOL� WHKOLNH� DOWÕQGD� EXOXQDQ� W�UOHU�
EDUÕQGÕUPDNWDGÕU��
KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBG
HWD\�SKS"NRG ����	WLSL �	VXEH ��

�
�%$6,1�$d,./$0$6,���'h1<$�68/$.�$/$1/$5�*h1h��

6XODN�$ODQODU�� HNRORMLN� GR÷DO� G|QJ�� ]LQFLULQLQ�
HQ� |QHPOL� KDONDVÕGÕU�� d�QN�� VXODN�
DODQODU� IORUD� YH� IDXQDQÕQ��� \DúDP�
RUWDPODUÕGÕU�� \HU\�]�QGHNL� VX�
UHMLPLQLQ� PHUNH]LGLU��� =LQFLU�
KDONDVÕQGDQ� ELULQL� NRSDUGÕ÷ÕQÕ]GD�

GR÷DO� G|QJ�� GH� RUWDGDQ� NDONDFDN� YH� \DúDP�
VÕIÕUODQDFDNWÕU��6XODN� $ODQODU�� HNRQRPLN� ELU� GH÷HUGLU�� 6XODN�
DODQODUÕQ� ND\EÕ�� oHYUHVLQGH� \DúD\DQ� \HUHO�
KDONÕQ� JHoLP� ND\QD÷ÕQÕ� GD� \RN� HGHFH÷LQGHQ�
�ONH�LQVDQÕQÕQ�JHOHFH÷LQL�WHKGLW�HGHFHNWLU��6XODN� $ODQODU�� X\JDUOÕNODUÕQ� EHúL÷LGLU�� øON�
X\JDUOÕN� JHOLúLPL� RODQ� 0H]RSRWDP\D� YH�
$QDGROXµGDNL� LON� \HUOHúLPOHU� VXODN� DODQODU�
oHYUHVLQGH� NXUXOPXúWXU� YH� WDULKVHO� |QHPOHUL�
YDUGÕU��
KWWS���ZZZ�SH\]DMPLPRGD�RUJ�WU�JHQHO�EL]GHQBG
HWD\�SKS"NRG ����	WLSL �	VXEH ��
�
�
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�302*HQo� 7�UNL\H� 7HPVLOFLOHUL� 7RSODQWÕVÕ� ���
ùXEDW� ����� &XPDUWHVL� J�Q�� $QNDUDµ� GD�
WRSODQGÕ�� ��� hQLYHUVLWHGHQ� 302*HQo�
7HPVLOFLOHULQLQ� NDWÕOGÕ÷Õ� WRSODQWÕQÕQ� DQD�
J�QGHPOHUL��
�

x� ,,�g÷UHQFL� .XUXOWD\Õ� +D]ÕUOÕN� dDOÕúPDODUÕ�
'H÷HUOHQGLUPHOHUL��

x� ,Õ��g÷UHQFL�.XUXOWD\Õ�'H÷HUOHQGLUPHOHUL��
x� ,Õ�� g÷UHQQFL� .XUXOWD\Õ� 6RQUDVÕ� $ODQ�

'H÷HUOHQGLUPHOHUL��
x� ��� .RQJUH� ø]OHQLPOHUL� 9H�

'H÷HUOHQGLUPHOHUL��
x� 8OXVODU�$UDVÕ�dDOÕúWD\��%DKDU��������
x� %DVÕQ�$oÕNODPDVÕ��
x� �$PDVUDµ�'D�7HUPLN�6DQWUDO�øVWHPL\RUX]���
x� 3H\]DM� 0LPDUOÕ÷Õ�� 8OXVDO� g÷UHQFL�

6HPSR]\XPX��6RQEDKDU���������
x� 3PRJHQo� /RJR� 7DVDUÕP� <DUÕúPDVÕ�

�6RQEDKDU���������
x� g÷UHQFL�7HPVLOFLOL÷L�6HoLPOHUL��
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